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Just write "TRUE" or "FALSE" .
(10) 1(a) For any . language A on (0,1}, we always have (A®)® =(AR)C,
(b) The set of all infinite languages on {a} is countable.
(¢) If a DFA, M has no inaccessible states then L(M) #¢.
(d) The DFA obtained from an NFA will always have more states.
(e) If G is a CFG with a production of the form A-bA and G
has no useless production, then L(G)is infinite.

Just write down the correct answer,

(18) 2(a) Find a regular expreseion E for the set of all strings in {0,1}"
which ¢ontains at’!édst two occurrences of the string 10.

Ang: E =
(b) If G = {S-AASa, S+a, A~b, A~A}, then
L(G) =

(¢) If M is the NFA below, then

{d) Find a RLG G for 0.1° 0

Ans: @ =

kS

() Find a DFA M with L{(M)=(a".b)+ k"

Ans: M =

Use the back of this paper for question #3.
(12) 3{a) Define what is a regular expression over the alphabet {0,1,2}.
(b) Define what is an inherently ambiguous context-free language L.
(c) Define when two stateg of a DFA M are indistinguishable.
(d) Define what is the extended transition function of an DFA M.
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